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RECHENFRUHSTUCK - WOCHE 6 | Name:

Schreib die Zahl auf den Strich neben das Wort!

sechshundertzweiunddreifig zwethundertsiebzig MO
vierhundertsiebenundvierzig siebenhunderteins
achthundertzwei tausend
neunhundertneunundneunzig einhundertzwslf
700 - 100 = 500 - 100 = 300 - 100 =__
600 + 300 = 600 - 300 = +00 + 100 =
700 -400= 900+ 100=_ 900 -600=__ DI
600 + 200 = 800 + 200 = 500 +300=__
300 + 500 = 500 - 300 = 700 + 300 =
OO (s '
270 + 130 = 500 + 220 = 620 + 240 =
670 - 370 = 190 - 120 = 120 - 110 =
DO
790 - 590 = 790 - 580 = 470 - 220 =
890 + 100 = 270 + 400 = 70+ 130=__
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RECHENFRUHSTUCK - WOCHE 5 | Name:
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L0 ¢+ 4 =_10 2. 9=_28 70 . 7= b« 8 =32




RECHENFRUHSTUCK - WOCHE 6

Name:

Schreib die Zahl auf den Strich neben das Wort!
sechshundertzweiunddreifig zwethundertsiebzig MO
vierhundertsiebenundvierzig siebenhunderteins
achthundertzwei tausend
neunhundertneunundneunzig einhundertzwslf
700 - 100 = __ 600 500 - 100 = __ %00 300 - 100 = __ 200
600 + 300 = _ 900 600 - 300 = __ 300 00 + 100 = __ 500
700 - %00 = _ 300 900 + 100 = __1000 900 - 600 = __ 300 DI
600 + 200 = __800 800 + 200 = __1000 500 + 300 = __ 800
300 + 500 = __800 500 - 300 = __ 200 700 + 300 = __1000
() H(0(m) (s ’
270 + 130 = __ 400 500 + 220 = _ 720 620 + 240 = _ 860
670 - 370 = __300 190 - 120 = __70 20 - M0 =__10 DO
790 - 590 = _ 200 790 - 580 = __ 210 470 - 220 = _ 250
890 + 100 = _ 990 270 + 400 = _ 670 770 + 130 = __900
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